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COURSE TITLE: ACCOUNTING FOR MANAGERIAL DECISIONS
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Notes:

1. Right side of figures indicates full marks of Question.
2. Answer to the Two Sections should be written Separately in the same Answer
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SECTION I , |
Q-1 | Discuss vartous methods and techniques of Costing in detail. (17)
OR
Q-1 | What is Cost Accounting? Explain its Advantages, Disadvantages and objectives. (17)
Q-2 | Distinguish between Marginal costing and Absorption costing. Write note on Profit (18)
Planning with suitable examples.
OR
Q-2 | Rajendra company manufacture three products. The following is the cost data relating to | (18)
products A, B, and C.
Products A {Rs.) B (Rs.) C (Rs.) Total (Rs.)
Sales 1,350,000 90,000 60,000 3,00,000
Variable Cost 1,20,000 63,000 36,000 2,19,000
Contribution 30,000 27,000 24,000 81,000
Fixed Cost 40,500
Profit 40,500
Prove that how knowledge of marginal costing can help management in changing the sales
tnix in order to increase profit of the company.
SECTION 11
Q-3 | Saraswati Limited has recently introduced an Activity Based Costing System. It (17)
manufactures three products, details of which are set out below:
Particulars Product A Product B Product C
Budgeted annual production 100000 100060 50000
(units)
Batch size (units) 100 50 25
Machine set-ups per batch 3 4 6
Purchase orders per batch 2 1 1
Processing time per unit 2 3 3
(minutes)

Three cost pools have been identified. Their budgeted costs for the year ending 31st
March 2017 are as follows:
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Machine set-ups costs ¥ 1,50,000

Purchasing of materials T 70,000

Processing T 80,0600

Find out cost per unit of all products using Activity Based Costing.

OR

Write note on:
[A] Life Cycle Costing
[B] Target Costing

(09)
(09)

Write note on: {(Any Two) -

[A] Cost Auditor

[B] Cost Audit in India

[C] Cost Audit Report

[D] Types, Advantages and Disadvantages of Cost Audit,

{18)
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